A pen has a mass of 15 grams. What is the
mass of 5 identical pens? /

Alarge box has a mass of 125 kilograms. A

small box has a mass of 114 kilograms.
What is the total mass of both boxes? -

Sarah'’s fish tank holds 32 liters of water. !é(
Sarah uses a 4 liter container to fill the tank.
How many times will Sarah need to fill the 4

liter container in order to fill the fish tank?

Ben has three cups, each filled with 325ml '
of lemonade. What is the total liquid volume
of lemonade in the three cups?
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